o
[N

0.15

<3 @> (rad)

©
D

0.05]

.................................................

................................................

[y

MENITRTITY BRI TTTT BRI R T
e R R R ] k]

3

=
o

2
TPp. (PCA t%obeamliné[f)

T
4

O_sz' MR BT BT BT
T r : : :
o L

| EeEEEEEPEPEEE EPPRPPEPER EREPEPEPRPRES s =

.................................................

................................................

1

th

— — =iy = 0= oA

j——— :3§%L§:_.é%m are { it érJ}E e2 24 _eta, Q
J——r— —pixe|CPETEmDate I_quare 15—Sten2—; —ela; 0
o —8%8%3;’8% SleChichiSdireatste —E —Sag SE

o

< 0dy > (Um)

e e e e &

<op/p, > (%)

2 3
1 lOT (PCA f%)obeamlinéf)

.................................................

.................................................

; I2 3
1 - (PCA t%)obeamlin%)o

-20

2 3
TP1|c9T (PCA t%obeamliné[f)

TTTT] T
3

0.95

1

2 3
TPl[g)T (PCA f%)obeamlinéf)



	Contents
	Page 1


